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JAU-002-001110 Seat No.
B. Com. (Sem. I) (CBCS) Examination
December - 2019
Mathematics - 1
(Old Course)

Faculty Code : 002
Subject Code : 001110

Time : 2% Hours] [Total Marks : 70

qasit : (1) e ws slrana B,
(2) euell suy e suldd 8.

1 (a) vl Gelsel Wl av 10
(1) el o (2) Gu o (3) oL ol
(4) dslad 2wl (5) & 2wl
() o U=1{1,2,34,56738910}, 4=1{1,3,4,5,7}, 10

B={1,4,7,10},C=1{2,3,4,7} € d :
(1) An(B-C)=(4NB)—(4ANC) usRl.

(2) AU (BNC)=(4UB)N(4UC) AR,

wYdl

1 (3) 2 A A B A5 vel 6 ol €A dl Gelswl gkl el 10
Ml @uil 24 ALBLd 53,

(o) o 4= {x/xz—l <10, xez} 10
B:{y/|y—l|<2,y€N}
C={p/|lP| <L pcz} u, d Abd sA 3

Ax(BNC)=(4xB)N(4xC)
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2 (w) 3np = 2tlp &y Ao Al 10

() Al $A 3 77lp =np pxip 10
24l
2 () Wl A Y "c, 4+ nc, = ntle, 10
() n @ r Al : "C,_ :"C, :"C, =3:4:5. 10
3 () ol dl : 513 4523 4 4703, 7
(o) oURdld 2aqHicAAl Rigiasl Gualol 53 Al 53 3 ¢ 8
1
1—|—2+3+....+n:@.
24l
9
4x2 3 ,
3 (@) |57 2| -0 [ararentl »aa ug oA, 7
. 6 6
(a) Bud Q) : (J§+1) +(J§—1) . 8
4 () wiadut 2w olkdad andl. 7
(1) apul Ad x=35 W2 puFd Bd Q4 - 8
X 25 |30 |40 |50

y=u, |52.0]673 |84.1]|94.4

wYql
4 vedl Bud . 15

y=u, [10]15]—[20]|— |30
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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

1 (a)
(b)
1 (@
(b)
2 (a
(b)
2 (a)
(b)

(2) Marks are denoted on right side.

Define with example :

(1) Null set (2) Subset
(3) Union of sets (4) Difference of sets

(5) Intersection of sets.

If U=1{1,2,34,56,7,8910},4={1,3,4,5,7},
B={1, 4,7,10},C={2,3,4,7}, then

(1) Verify 4N (B—C)=(4ANB)—(ANC).

2) Verify AU(BNC)=(4AUB)N(4UC).

OR

If A and B are any two sets, then state and prove
D'Morgan's rule by example.

If A= {x/xz—l <10, er}

B:{y/|y—l|<2,y€N}
C = {p/|P| <1, pe Z}, then prove that

Ax(BNC)=(4xB)N(4xC)

If 3”P3 = 2”‘HP3, then find 7.

Prove that "Tlp, =7p 4+ rx7p .
OR

Prove that "C, + "C, | ="*lcC,.

Find n and r : ”CF_I:”CF:”CF+1:3:4:5.

10

10

10

10

10

10

10

10
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3 (a)
(b)
3 (a)
(b)
4 (a)
(b)

Find sum : 513 + 523 + 1703

By using principal of Mathematical induction

n(n—l—l)
prove that 1+2+3+ ... +n= T
OR
9
, ' ' 4x2 3
Find constant term in the expansion of ER R

Find the value (1/5 + 1)6 + (45 — 1)6.

Explain interpolation and extrapolation.

By using Lagrange's method estimate y for x = 35.

X 25 30 (40 |50
y=u, 5201673 |84.1(944

OR

4  Find the missing values.

0 (1 |2 (3 [4]5

y=u,. [10[15]|— (20— [30
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